
Spare parts for the professional sector:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

<T1

VFA EXPRES
T1>

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

R
e

l.
 2

0
1

7
-0

8
2

9
1

4
2

9

Coffee grinders



GRINDER ASSEMBLY E1464 AE1464 NEW

Positions without LF code no.: upon request

<T1

VFA EXPRES
T1>



Position LF code no. Description

5 <i 3060069 i> HEXAGONAL NUT M8 MEDIUM

7 <i 1252368 i> CAP LOCKING PIN

10 <i 1250126 i> LOCKING PIN SPRING ø 7x26 mm

14 <i 1319464 i> ORANGE BIPOLAR SWITCH 16A 250V

21 <i 1252370 i> DOSER CYLINDER

23 <i 1162003 i> FILTER HOLDER FORK

24 <i 1252371 i> SUPPORT WITH MICROSWITCH

26 <i 1251055 i> GRINDING BURRS BOTTOM HOLDER

28 <i 1251071 i> GRINDING BURRS RANCILIO-VFA (PAIR) LEFT

29 <i 1528631 i> CYLINDER HEAD SCREW M4x8

30 <i 1324104 i> MIXER PIN

31 <i 1250127 i> MIXER PIN SPRING

33 <i 1343030 i> MIDDLE TOP STAR

34 <i 1252372 i> SHEET FOR DOSER

37 <i 1250128 i> STAR SPRING ø 33x35 mm

49 <i 1225022 i> DOSER LEVER

50 <i 1252373 i> PAWL FOR COFFEE GRINDER

59 <i 3240123 i> MICROSWITCH ROLD VRSRB1DA1

64 <i 1351006 i> RELAY RM 705730 SCHRACK

67 <i 3068016 i> CAPACITOR DUCATI ENERGIA 10µF

<T1

VFA EXPRES
T1>



GRINDER ASSEMBLY N1464 AN1464 NEW

Positions without LF code no.: upon request

<T1

VFA EXPRES
T1>



Position LF code no. Description

5 <i 3060069 i> HEXAGONAL NUT M8 MEDIUM

7 <i 1252368 i> CAP LOCKING PIN

10 <i 1250126 i> LOCKING PIN SPRING ø 7x26 mm

14 <i 1319464 i> ORANGE BIPOLAR SWITCH 16A 250V

21 <i 1252370 i> DOSER CYLINDER

23 <i 1162003 i> FILTER HOLDER FORK

24 <i 1252371 i> SUPPORT WITH MICROSWITCH

26 <i 1251055 i> GRINDING BURRS BOTTOM HOLDER

28 <i 1251071 i> GRINDING BURRS RANCILIO-VFA (PAIR) LEFT

29 <i 1528631 i> CYLINDER HEAD SCREW M4x8

30 <i 1324104 i> MIXER PIN

31 <i 1250127 i> MIXER PIN SPRING

33 <i 1343030 i> MIDDLE TOP STAR

34 <i 1252372 i> SHEET FOR DOSER

37 <i 1250128 i> STAR SPRING ø 33x35 mm

49 <i 1225022 i> DOSER LEVER

50 <i 1252373 i> PAWL FOR COFFEE GRINDER

59 <i 3240123 i> MICROSWITCH ROLD VRSRB1DA1

64 <i 1351006 i> RELAY RM 705730 SCHRACK

67 <i 3068016 i> CAPACITOR DUCATI ENERGIA 10µF

<T1

VFA EXPRES
T1>



Suitable for: Suitable for:

<T2

Brushes
T2>

<|

1 3 8 4 0 2 3
|>

BR U SH  FO R C L EA N IN G  5 0  m m
<|

1 3 8 4 0 0 1
|>

BR U SH  FO R C O FFEE S H OW ER

    

VFA EXPRES  VFA EXPRES

<|

1 3 8 4 0 0 2
|>

BR U SH  FO R M A IN T EN AN C E
<|

1 3 8 4 0 1 4
|>

BR U SH  FO R S H OW ER  R ED

    

VFA EXPRES  VFA EXPRES

<T2

Capacitors, electrical
T2>

<|

3 0 6 8 0 1 6
|>

C A P A C IT O R D U C A T I EN ER G IA  1 0 µ F
<|

3 0 6 8 0 8 0
|>

C A P A C IT O R EL EC T R IC A L  1 0 µF
450V 50/60Hz 450V 50/60Hz - ø 30xh71 mm

 operating temperature -25 + 85°C  
 lead connector 6.35x0.8 mm  
 ø 36xh58 mm  

    

VFA EXPRES  514482  VFA EXPRES  514482

<T2

Clamps
T2>

<|

1 1 6 8 0 1 1
|>

S TA IN L ESS  ST EEL  C LA M P  FO R FL A N GE P U M P
<| |>

    

VFA EXPRES  

<T2

Coffee measuring spoons
T2>

<|

1 0 6 9 0 0 1
|>

P LA S TIC  M EA SU R IN G  SP O ON  2 0  m l
<|

1 0 6 9 0 0 2
|>

S TA IN L ESS  ST EEL  M EA S U RIN G S P OO N  2 0  m l

    

VFA EXPRES  VFA EXPRES

<T1

VFA EXPRES
T1>



Suitable for: Suitable for:

<T2

Dosers for coffee
T2>

<|

1 2 5 2 3 7 0
|>

D O SER  C YL IND E R
<|

1 3 2 4 1 0 4
|>

M IX ER  PIN
for Grinder-dispenser (VFA EXPRES) AE1464NEW

 AN1464 - E1464 - N1464  

    

VFA EXPRES  946016  VFA EXPRES  946029

<T2

Forks for portafilter coffee grinder
T2>

<|

1 1 6 2 0 0 3
|>

FILT ER  HO L D ER  F OR K
<| |>

for Grinder-dispenser (VFA EXPRES) AE1464
 AE1464NEW - AN1464 - AN1464NEW - E1464  
 E1464NEW - N1464 - N1464NEW  

    

VFA EXPRES  966036  

<T2

Grinders
T2>

<|

1 2 5 1 0 7 1
|>

G R IN D IN G  BU RR S  RA N C ILIO -V FA  (P A IR ) L EFT
<| |>

external ø 64 mm - internal ø 38 mm
 thickness 9 mm - 3 mounting holes  
 for Grinder-dispenser (VFA EXPRES) AE1464NEW  
 AN1464 - E1464 - N1464  

    

VFA EXPRES  946005 VFA EXPRES  966005  

<T2

Grinding burr holders
T2>

<|

1 2 5 1 0 5 5
|>

G R IN D IN G  BU RR S  BOT T OM  H OL D ER
<| |>

for Grinder-dispenser (VFA EXPRES) AE1464NEW
 AN1464 - E1464 - N1464  

    

VFA EXPRES  946011  

<T1

VFA EXPRES
T1>



Suitable for: Suitable for:

<T2

Ironmongery (screws,nuts,washers)
T2>

<|

1 5 2 8 6 3 1
|>

C YL IND E R H EA D  S C R EW  M 4 x8
<|

1 5 2 8 5 1 6
|>

C YL IND E R H EA D  S C R EW  M 5 x1 2
stainless steel - cross recessed stainless steel - slotted

 UNI 7687 - DIN 7985 - ISO 7045  UNI 6107 - DIN 84 - ISO 1207

    

VFA EXPRES  DIN84_4_8  VFA EXPRES

<|

1 3 4 8 0 2 5
|>

H EXA G O NA L  N UT  M 3
<|

3 0 6 0 0 6 9
|>

H EXA G O NA L  N UT  M 8  M ED IU M
brass - UNI 5587 - ISO 4033 stainless steel - UNI 5588 - DIN 934 - ISO 4032

    

VFA EXPRES  VFA EXPRES

<T2

Levers
T2>

<|

1 2 2 5 0 2 2
|>

D O SER  L EVER
<| |>

for Grinder-dispenser (VFA EXPRES) AE1464NEW
 AN1464 - E1464 - N1464  

    

VFA EXPRES  976018  

<T2

Microswitches, mechanical
T2>

<|

3 2 4 0 1 2 3
|>

M IC R O SW ITC H R O LD  V R SR B1 D A 1
<|

1 2 5 2 3 7 1
|>

S UP P OR T  W IT H M IC R OS W IT C H
16A 250V

    

VFA EXPRES  946058  VFA EXPRES  946053 VFA EXPRES  946058

<T2

O-Ring and ORM gaskets
T2>

<|

1 1 8 6 4 2 1
|>

O -R ING  0 2 0 1 8  EPD M
<| |>

    

VFA EXPRES  

<T1

VFA EXPRES
T1>



Suitable for: Suitable for:

<T2

Pawls for coffee grinder dosers
T2>

<|

1 2 5 2 3 7 3
|>

P A W L FO R  C O FFEE G RIN D ER
<| |>

for Grinder-dispenser (VFA EXPRES) AN1464NEW
 N1464  

    

VFA EXPRES  946020  

<T2

Pins
T2>

<|

1 2 5 2 3 6 8
|>

C A P  LO C K IN G  P IN
<| |>

    

VFA EXPRES  946006 VFA EXPRES  966006  

<T2

Relays
T2>

<|

1 3 5 1 0 0 6
|>

R EL AY  RM  7 0 5 7 3 0  SC H R A C K
<| |>

230V 16A
 for Grinder-dispenser (VFA EXPRES) AE1464NEW  
 AN1464 - E1464 - N1464  

    

VFA EXPRES  946060  

<T2

Springs
T2>

<|

1 2 5 0 9 7 1
|>

L EVER  P IN  SP R IN G
<|

1 2 5 0 1 2 6
|>

L OC K ING  P IN  SP R IN G  ø 7 x2 6  m m

    

VFA EXPRES  VFA EXPRES  946009

<|

1 2 5 0 1 2 7
|>

M IX ER  PIN  SP R IN G
<|

1 2 5 0 1 2 8
|>

S TA R  SP R IN G  ø 3 3 x3 5  m m

    

VFA EXPRES  946030  VFA EXPRES  946025

<T1

VFA EXPRES
T1>



Suitable for: Suitable for:

<T2

Stars and spare parts
T2>

<|

1 3 4 3 0 3 0
|>

M ID D LE T OP  S TA R
<|

1 2 5 2 3 7 2
|>

S HEET  FO R D O SE R
for Grinder-dispenser (VFA EXPRES) AE1464NEW for Grinder-dispenser (VFA EXPRES) AE1464NEW

 AN1464 - E1464 - N1464  E1464

    

VFA EXPRES  966030  VFA EXPRES  946027

<T2

Switches
T2>

<|

1 3 1 9 4 6 4
|>

O RA N G E BIP O LA R  S W IT C H  1 6 A  2 5 0 V
<| |>

16(4)A 250V - with indicator lamp
 mounting hole ø 25 mm  

    

VFA EXPRES  514401  

<T1

VFA EXPRES
T1>



The data herewith contained may change without notice and LF SpA cannot be 

held responsible for possible errors stated or resulting by the use of this document.

All rights reserved. No part of this publication may be reproduced without written 

permission by LF SpA.


	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

